

**Notice:** Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

### Kansas Corporation Commission Oil & Gas Conservation Division

#### 1322557

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

### WELL PLUGGING RECORD K.A.R. 82-3-117

OPERATOR: License #:	API No. 15		
Name:	Spot Description:		
Address 1:	Sec Twp S. R East Wes		
Address 2:			
City:	Feet from East / West Line of Section		
Contact Person:	Footages Calculated from Nearest Outside Section Corner:		
Phone: ( )	— NE NW SE SW		
Type of Well: (Check one) Oil Well Gas Well OG D&A Cathodic			
Water Supply Well Other: SWD Permit #:	County.		
ENHR Permit #: Gas Storage Permit #:	Lease Name: Well #:		
	Date Well Completed:		
Producing Formation(s): List All (If needed attach another sheet)	by:(KCC District Agent's Name		
Depth to Top: Bottom: T.D			
Depth to Top: Bottom: T.D	Plugging Commenced:		
Depth to Top: Bottom: T.D	Plugging Completed:		
	_		
Show depth and thickness of all water, oil and gas formations.	<u> </u>		
	Continue Page and (Conference Oranghasters & Page distribution)		
	Casing Record (Surface, Conductor & Production)		
Formation Content Casing	Size Setting Depth Pulled Out		
Describe in detail the manner in which the well is plugged, indicating where the mud floement or other plugs were used, state the character of same depth placed from (botto	·		
Plugging Contractor License #: N	Name:		
Address 1: A	Address 2:		
City:	State:		
Phone: ( )			
Name of Party Responsible for Plugging Fees:			
State of County,	, \$S.		
•			
(Print Name)	Employee of Operator or Operator on above-described well		

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.

## Elite Cementing & Acidizing of KS, LLC

810 E 7th, PO Box 92 Eureka, KS 67045



Date	Invoice #
11/8/2016	3034

Bill To	
Val Energy Inc.	
125 N. Market St., Suite	.110
Wichita, KS 67202	
	•
Customer ID#	1217

Job Date		11/7/2016
Lease Information		
Wallin	gford	11-28
County		Cowley
Foreman	RM	

	4,30 8	Terms	Net 15	
Item	Description	Qty	Rate	Amount
C103	Cement Pump-Plug (new well)	1	1,050.00	1,050.00
C107	Pump Truck Mileage (one way)	20	3.95	79.00
C203	Pozmix Cement 60/40	145	12.75	1,848.75T
C206	Gel Bentonite	500	0.20	100.00T
C108A	Ton Mileage (min. charge)	1	345.00	345.00
D101	Discount on Services		-300.00	-300.00

# We appreciate your business!

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$3,122.75
Sales Tax (6.75%)	\$131.54
Total	\$3,254.29
Payments/Credits	\$0.00
Balance Due	\$3,254.29

## 810 E 7<sup>TH</sup> PO Box 92 EUREKA, KS 67045 (620) 583-5561



Cement or Acid Field Report					
Ticket No.	3034				
Foreman	Russell McLoy				
Camp	Emily Jrek A				

Date	Cust. ID#	Lease	e & Well Number		Section	Tow	nship	Range		County	State
		WAlling	Forh 1-28		28	3(		6		pslwo.	K-5
Customer	t injusti			Safety	Unit #		Dri	ver	U	nit#	Driver
VALE	Merau	TNC:		Meeting							
Mailing Address					D.						
125 N	MACK			4							
City			Zip Code								
WichitA		KS	67207								
Job Type	r.A.	Hole Dep	th <u>3375</u>		Slurry Vol	36	36L		Tubing .	Produgisant no.	
Casing Depth_			re <u>778</u>		Slurry Wt	13.	8	[	Orill Pip	e 41/2	
					Water Gal/SK						
Casing Size & Wt Cement Left in Casing  Displacement Displacement PSI				Bump Plug to					5		
Displacement_		Displace	ement PSI		Bump Flag to				J1 IVI		
Remarks: Se	Hety M	18871.09									
			SPOT	35	5K3 @						
			SPOT	35	SK3 @	40	3'				
			SPOT	25	5 K3 60	) +	υ ⊆	SUITME	Ç		
			SAUT	05	skš f	Rath	ole				
			SPOT	20	ski	Moo	50 HO	1c			
				149	i ski	Tot	n I	60	140	Po2mix	47,6-1
	Than				u !		·				1. 1.1.
				0	all mei						e Net

Code	Qty or Units	Description of Product or Services	Unit Price	Total
C - 163		Pump Charge	1050.00	1050.00
C-107	26	Mileage	3.75	79.00
<i>.</i> 1 2	1116	11° 1111 0.0 'Y	12.75	1848.75
C-206	145 500 #	SKS 60/40 POZMIX Gel = 49.	- 20	100.00
C-108A	6.24 Tow	Tow Milage (BUK TruK)	345.00	345.00
			SUB TOTAL	3,422.75
			Discourt Sales Tax	300.00 131.54
A41!-	zation by Duke	Culter Title Rig Pusher C+6 Drlg	Total	3254.29

Elite Cementing & Acidizing of KS, LLC

810 E 7th, PO Box 92 Eureka, KS 67045



Date	Invoice #		
11/8/2016	3022		

Bill To		
Val Energy Inc. 125 N. Market St., Sui Wichita, KS 67202	te 1110	
Customer ID#	1217	

Job Date		11/2/2016			
Lease Information					
Wallingford 1-28					
County	Cowley				
Foreman	RM				

			Terms	Net 15
Item	Description	Qty	Rate	Amount
C101	Cement Pump-Surface	1	840.00	840.00
C107	Pump Truck Mileage (one way)	20	3.95	79.00
C200	Class A Cement-94# sack	150	15.00	2,250.00T
C205	Calcium Chloride	280	0.60	168.00T
C206	Gel Bentonite	280	0.20	56.00T
C108A	Ton Mileage (min. charge)	1	345.00	345.00
D101	Discount on Services		-300.00	-300.00
	avos			

# We appreciate your business!

	Phone # Fax #		E-mail			
-	620-583-5561	620-583-5524	rene@elitecementing.com			

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$3,438.00
Sales Tax (6.75%)	\$167.00
Total	\$3,605.00
Payments/Credits	\$0.00
Balance Due	\$3,605.00

810 E 7<sup>TH</sup> PO Box 92 **EUREKA, KS 67045** (620) 583-5561



**Cement or Acid Field Report** Ticket No. 3022

Foreman Russell McCoy

Camp Eureka

Date	Cust. ID#	Leas	e & Well Number		Section	To\	wnship	Range	County	State
11-2-16	1214	WAllin	ugforb 1.	28	28	,,, ,,,	30	6	Cowley	Ks
Customer				Safety	Unit #		Driv		Unit #	Driver
VALEN	into u	TNC.		Meeting	105		DAY			
Mailing Address	49331			1	114		<u>51 e</u>	se		
125 N	MAT	Ket St	StE 1110							
City		State	Zip Code							
Wichit	A	KS	67202							
Job Type Soc	FACE	Hole Der	oth <u>348</u>		Slurry Vol	40	821	Τι	ıbing	
Casing Depth 338 G.L. Hole Size 13 1/3 Slurry Wt. 14.8 Drill Pipe 41/2										
Casing Size & Wt. 898 24 Cement Left in Casing 20 Water Gal/SK 45 Other										
Displacement 21 R61 Displacement PSI 50 PSZ Bump Plug to No Plug BPM 5										
Remarks: Safety meeting Rig up to 85/8 Brenk Circulation w/ 5 861										
Fresh wa	Har. M	ix a Pur	nP 150 5Ks	Reg	CINSS A	Crr	T. M	w/ 3%	CC 27. Ge	1
VII H Flore	10 (A) 1	4. B # Prije	ix for nollar	e10 1.	36 Di	SPIV	gre u	1211	361 WATER	
4 Rhl	rement	RETUINS	to Pit = (1	S 54;	i) Close c	nsi	Mires	. WASI	a out celle	<u>r</u>
		molete, Te			,					
Anna			THANK	100		1				
Russell McLoy										
						9				
										7) 2-

Code	Qty or Units	Description of Product or Services	Unit Price	Total
C-101	1	Pump Charge	840.00	840.00
C-107	20	Mileage	3.95	79.00
C-200	150	SK3 Class A Comont	15.00	2,250.00
ζ-30S	280 <sup>#</sup>	# CHCIS	. 60	168.00
-206	2 80 H	# Gel	. રૂ ઇ	56.00
C-108 A	7.05 Tous	TON Milenge BULK Truck	345.00	345.00
			SIL TOTAL	3,738.00
			DISCOUNT	300.00
	OK 61	Todd Allam up val by Phone Day 10.	31-16 Sales Tax	11 7 0 1)
			Sales lax	167.00
- Authoriz	ration CAILED	by DUKE 11216 Title WC+G Dr19	Total	3,609.00